HET X FRIBAAR (REIETE) ASHER
as U . 20245 F 20234
T FRRESN L7 THE = =B Ak  BER Ga% B | 2@ B A  BER  Ga% | 5%
B IDBRER 3RIEAR 18 18 8 216 72.0% 2.25 28 28 4 228 76.0% 7.00
FEEET 18 18 8 — — 28 28 4 — —
BEREH 3RIEAR 18 18 10 183 61.0% 1.80 25 25 16 173 57.7% 1.56
IL#ZE=R] 3RBEAR 10 10 4 187 62.3% 2.50 16 16 10 179 59.7% 1.60
S S 3MEB 10 10 6 203 67.7% 167 20 20 6 214 713% 3.33
BER #HEFEHER 3RIEAR 18 18 10 201 67.0% 1.80 26 26 14 203 67.7% 1.86
EEZEHE HAEFEFK 3RBEAR 30 30 10 220 73.3% 3.00 22 22 12 200 66.7% 1.83
s Bkl m¥eysy 3MEB 14 14 7 205 683%  2.00 26 26 12 192 64.0% 2.17
BEEER (LWHAFEFEFEK 3RIBAR 9 9 7 187 62.3% 1.29 17 17 10 183 61.0% 1.70
Beshl OEESSR  3HESH 28 28 5 221 73.7%  5.60 2 12 7 173 57.7% 171
BHAFERAXER 3RBAK 22 22 14 214 T71.3% 1.57 15 15 212 70.7% 1.88
e 3RIEAR 15 15 5 215 T71.7% 3.00 24 24 10 203 67.7% 2.40
HERFIRIERL -
SAEZE 1 BRI 9 9 5 150 75.0%  1.80 - -
FEEE 183 183 83 — == 203 203 105 — =
. (FE—1EE5) 3RIEAR 91 91 76 189 63.0% 1.20 41 41 34 190 63.3% 1.21
PSS 91 91 76 — — 41 41 34 — —
g BEER 3RIEAR 70 70 46 203 67.7% 1.52 48 48 26 202 67.3% 1.85
FEEE 70 70 46 — — 48 48 26 — —
T EEER 3RIEAR 44 44 9 225 75.0% 4.89 28 28 17 195 65.0% 1.65
FEEE 44 44 9 — = 28 28 17 — ==
BERER 3RIEAR 37 37 15 211 70.3% 2.47 36 36 25 198 66.0% 1.44
BESH
HEAE 37 37 15— - 36 36 25— —
3RIBAR 32 32 9 210 70.0% 3.56 14 14 10 192 64.0% 1.40
ERES AL 3 SAEZE 1 BRI 18 18 4 200 100.0%  4.50 9 9 6 170  85.0% 150
NGt 50 50 13 — — 23 23 16 — —
E R FER 3REAR 16 16 5 227 T75.7% 3.20 9 9 4 199 66.3% 2.25
JO-NLREF—X2H  HESLERAR 12 12 5 200 100.0%  2.40 7 7 4 170 85.0% 1.75
NGt 28 28 10 — — 16 16 8 — —
SEAE 78 718 23— = 39 39 24 - -
2 - (RS BEEESR 8 8 3] 195 65.0% 2.67 100 10 4 2000 66.7% 2.50
HMeeEwA T 7 5EE HEBERAR 12 12 6 197 65.7% 2.00 17 17 6 192 64.0% 2.83
EFHmEEDE B RSN 15 15 6 197 657% 2.50 18 18 7 190 633% 2.57
RIBETSEER MM TIE - OR T 7 XFE |BEERAH 14 14 5 210 70.0% 2.80 14 14 5 187 62.3% 2.80
ISRt EERTZ #ESEHRAR 13 13 3 210 70.0% 4.33 13 13 7 182 60.7% 1.86
RIS AT ERTR BE @SN 14 14 5 195 65.0%  2.80 13 13 10 150 50.0% 1.30
FEEE 76 76 28 — — 85 85 39 — —
HE2FH 3RIEAR 24 24 19 182 60.7% 1.26 57 57 6 226 75.3% 9.50
oy | ISATTARRIAY bER SRENR 15 15 10 178 593% 1.50 36 36 3 24 747% 12.00
RARUAER 3RIEAR 12 12 10 150 50.0% 1.20 31 31 5 218 12.7% 6.20
FERE 51 51 39 — — 124 124 14 — —
e 3HEB 12 12 4 208 69.3%  3.00 21 20 3| 217 72.3% 6.67
BER 3RBEAK 10 9 T 166 55.3% 1.29 16 16 3 200 66.7% 5.33
BEER BmREFEH 3RBEAR 17 14 4 192 64.0% 3.50 9 9 5 162 54.0% 1.80
BREES 27 L2 3REB 16 16 4 226 753% 4.00 100 10 4 204 68.0% 2.50
FEEET 55 51 19 — — 56 55 15 — =
gy R 2RERB 9 9 of 72 36.0% 1.00 3 3 3 97  48.5% 1.00
FEEE 9 9 9 — — 3 3 3 - —
=X 712 708 355 — — 691 690 306 — —
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